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(Computér ‘Fundamental)
Full Marks : 60 | Time : Three Hours

The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

Group - A
Answer any fen questions : 2x10=20
1. Define mainframe and minicomputer.
2. What is the function of ALU ?

3. What is the difference between primary and secondary
memory ?

4. Convert (45.62)pp into binary.
5. What is the function of cache memory ?

6. What is the role of FAT ?
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10.
11.
12.
13.
14.
15

16.

17.

18.

19

20.

02 )

. What is the difference between guided and unguided

media ?

. Define booting process of a Computer.

. What is gray code ?

What are the drawbacks of assembly language ?
Differentiate between software and hardware.

Write the application of Bridgy in computer network.
What are the advantages of GUI operating system ?
What do you niea‘n by search engine ?

What is the role of router ?

Group - B
Answer any four questions : 5%4=20

Draw the rhemory hierarchy diagram. What is the
difference between optical disc and hard disk 2 = 2+3

Write the difference between machine language and
assembly language ? What is mnemonic ? 3+2

What do you mean by floating point representation ?.
Represent zero to nine BCD 2421 code. 213

What is software ? Describe different types of software.
243

What are the differences among BCD, Nibble, ASCII
and EBCDIC code ? T8



21,

22.

23,

24.

25.

What is bus ? What are the different types of buses ?

Also mention their functionality. 1+4
Group - C
Answer any fwo questions : 10x2=20

Compare bit, byte, word and nibble. Convert (56),, into -

gray code. What do you mean by error detecting and
correcting code ? 4+2+4

What is operating system? Write the functions of
operating system. Write the differences between MS-
DOS and Windows operating system. 2+4+4

Convert (45.725),= (Vg

Write the function of assembler, loader and linker.
Perform 1100011.101+111

Convert (3AD2.6B)  into Octal number ? 2+3+3+2

Write short notes on any two of the following :

; 5%x2=10
(1) Network topology
(i) Optical devices
(i) Computer generation
P.T.O.

VN-1/17 - 800



(t4°)
R
. fent-w
QA PfF A e we : axyo=g0
S| CRNGET 8 TRTEF{HIEe ket e |
R @ G RE @F I R 2
ol 2R ¢ CTIEN ERT =My |
81 (8€.93), @mei
¢l F ENEE IS o2
Y| FAT @7 it §t ¢ .
U AIRTTE @k SRS Rifw sk ¢
v | Computer IR *1afon ket @2 |
. >l T R ¢
so| amv@maawﬁmﬁ?
S5 Wﬁ\@maﬂ«mmmmﬁ?
31 Computer Network-a &3 2itaspef 4| ,
So1 fir 28 R cafix Frbeem e ¢
381 6 e I N QR 2
Sel ATHIRT I Ft 2



(5 )
et - 2
WWWWW €x8=30

3| R ST oa www 791 St F g9 g6
fers Afm St 2 3+

S| EF RIS € TRl -9 Al o
e St 2 o+

St IR AGTS 2r Fore | @R 2 27 @ 7w oA
MPF R & 183> @S «ifFwsT 711 39

S5 1 TRPemE B 2 AT wwom v TE I
me | 3o

0| BCD, Nibble, ASCH «&} EBCDIC &ITSR =ity 9 2
(¢4

31 I R 2 RiCH 2319 77 @ ©ivm e @1 3+8

fretat - o
QTR 716 2T Teg mhe ¢ Y0x3=30

3| B, MR, €6 @} R 97 weE 79 (@v),
cﬁ@mwﬁa—amlmaﬁcﬁwmm?ﬁmm
TACS J @R2 8+3+8

0| TR FITew e @3 Frme Fre guas v W=z
T2roe SR Biese «ide Sto 3+8+8

BiL)
VN:I/17 - 800



| {6 )
381 #ARRET 77 1 (8e.ak¢e),, =(?),
G, (FTO @R BrE-aa e e

o ¥ ¢ 1100011.101-3-111

(3AD2.6B), ¢ (3 31T R 1 JHO+O+Y
el B o (R I R ex3=b0

(o) BeAF BRI

(=) Sl e |

(3) IR (@ |



